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Haushaltsplan 2013 23.500,00 124.500,00 81.000,00 34.800,00 5.900,00
davon Verwaltung: 23.500,00 124.500,00 67.500,00  34.800,00 5.900,00
davon Bauhof: 13.500,00
Arbeitserfassung August-Oktober
Mitarbeiter A 46.700,00 400,00 0,00 0,00 0,00 400,00
Mitarbeiter B 44.000,00 400,00 500,00 100,00 300,00 200,00
Mitarbeiter C 47.400,00 700,00 300,00 0,00 100,00 100,00
Mitarbeiter D 43.000,00 400,00 0,00 200,00 300,00 300,00
Mitarbeiter E 47.200,00 500,00 500,00 0,00 200,00 0,00
Mitarbeiter F 44.200,00 500,00 300,00 400,00 100,00 100,00
Gesamt: 2.900,00 1.600,00 700,00 1.000,00 1100,00
multipliziert mit 4 --> 2014 11.600,00 6.400,00 2.800,00 4.000,00 4.400,00
Differenz zu 2013 11.600,00 6.400,00 -10.700,00 4.000,00 4.400,00



3 &
2 k)
3 =3
. E E 2 £
o 5 2 c = : c
3 & 3 g 5 5o £g
o @ < 2 o 9= G &
2 2 S IS5 ° S & T g
= s 3 N . g 53 S 3
2 8 g 5 g g E5 2o
% | < i S | < ~ < 0 i
03 03.01.01 03.01.02 03.01.03 04 04.01.01 06 06.02.02
Haushaltsplan 2013 74.400,00 71.000,00 119.400,00 17.000,00 93.000,00
davon Verwaltung: 74.400,00 71.000,00 119.400,00 17.000,00 34.000,00
davon Bauhof: 59.000,00
Arbeitserfassung August-Oktober
Mitarbeiter A 46.700,00 200,00 300,00 0,00 1.500,00 900,00
Mitarbeiter B 44.000,00 0,00 100,00 200,00 1.200,00 600,00
Mitarbeiter C 47.400,00 100,00 0,00 0,00 1.000,00 1.400,00
Mitarbeiter D 43.000,00 100,00 0,00 0,00 600,00 3.000,00
Mitarbeiter E 47.200,00 100,00 200,00 300,00 1.600,00 100,00
Mitarbeiter F 44.200,00 100,00 0,00 0,00 500,00 2.700,00
Gesamt: 600,00 600,00 500,00 6.400,00 8.700,00
multipliziert mit 4 --> 2014 2.400,00 2.400,00 2.000,00 25.600,00 34.800,00
Differenz zu 2013 2.400,00 2.400,00 2.000,00 25.600,00 -24.200,00
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Haushaltsplan 2013 193.900,00 5.800,00 9.300,00 73.400,00 0,00
davon Verwaltung: 27.700,00 5.800,00 5.400,00 46.300,00 0,00
davon Bauhof: 166.200,00 3.900,00 27.100,00 0,00
Arbeitserfassung August-Oktober
Mitarbeiter A 46.700,00 7.100,00 100,00 100,00 400,00 300,00
Mitarbeiter B 44.000,00 5.700,00 0,00 200,00 600,00 500,00
Mitarbeiter C 47.400,00 6.000,00 700,00 600,00 500,00 400,00
Mitarbeiter D 43.000,00 2.300,00 400,00 700,00 2.500,00 100,00
Mitarbeiter E 47.200,00 7.200,00 100,00 300,00 200,00 500,00
Mitarbeiter F 44.200,00 4.100,00 800,00 500,00 1.700,00 200,00
Gesamt: 32.400,00 2.100,00 2.400,00 5.900,00 2.000,00
multipliziert mit 4 --> 2014 129.600,00 8.400,00 9.600,00 23.600,00 8.000,00
Differenz zu 2013 -36.600,00 8.400,00 5.700,00 -3.500,00 8.000,00



